el snlartech Power, Inc.

SolarTech Power Universal Pole Mount RAC-M-530

PV Module

Bracket

Arm

The Mount support PV panels:

5 WATT

Component List 10 WATT
Part Qty
Bracket 1 20 WATT
Arm 1
PV Module Clamps 2 30 WATT
Hose Clamps .
M6 #25 hex-cap bolt for Bracket 4
M6 *25flat washer for Bracket 8
M6 *25 split lock washer for Bracket | 4
M6 *25 hex nut for Bracket 4
M6 *25 hex-cap bolt for Clamps 4
M6 *25 flat washer for Clamps 4

Solartech Power, Inc.
M6 #25 split lock washer for Clamps | 4 1070 N. Kraemer Place

Anaheim, CA 92806 USA

Tel: 714-630-8881 Fax: 714-630-8887
www.solartechpower.com

E-mail: sales@solartechpower.com






